

Advanced Intelligence Engineering
www.AlE195.com

# We have prepared a quote for you

# Wheaton Park District - 2023 First Round PC Replacement

Quote # TM002622 Version 2

Prepared for:

Prepared by:

Wheaton Park District

Tony Monterd

Thursday, April 20, 2023

Wheaton Park District Mike Benard 102 E. Wesley St. Wheaton, IL 60187 mbenard@wheatonparks.org

Dear Mike,

This quote identifies the first round of new computers in 2023 that need to replace those computers set to be decommissioned and recycled per the "PC Replacement Plan."

Tony Montero Account Manager

Advanced Intelligence Engineering

#### Hardware

Description		Price	Qty	Ext. Price
Lenovo ThinkCentre M70q Gen 3 Desktop Computer - Intel Core i5 12th Gen i5-12400T Hexa-core (6 Core) 1.80 GHz - 16 GB RAM DDR4 SDRAM - 256 GB NVMe M.2 PCI Express PCI Express NVMe 4.0 SSD - Tiny - Black - Intel Q670 chipset Chip - Windows 11 64		\$800.24	4	\$3,200.96
Lenovo ThinkCentre M70q Gen 3 Desktop Computer - Intel Core i7 12th Gen i7-12700T Dodeca-core (12 Core) - 16 GB RAM DDR4 SDRAM - 512 GB NVMe M.2 PCI Express PCI Express NVMe 4.0 x4 SSD - Tiny - Black - Intel Q670 Chipset Chip - Windows 11 64-bi		\$1,000.04	20	\$20,000.80
Lenovo ThinkPad T16 Gen 1 16" Notebook - WUXGA - 1920 x 1200 - Intel Core i7 12th Gen i7-1260P Dodeca-core (12 Core) - 16 GB Total RAM - 8 GB On-board Memory - 512 GB SSD - Thunder Black - Intel Chip - Windows 11 - Intel Iris Xe Graphics - In-p	E.	\$1,320.48	2	\$2,640.96
Lenovo - Open Source ThinkPad Hybrid USB-C with USB-A Dock - for Notebook - 135 W - USB Type C - 6 x USB Ports - 2 x USB 2.0 - Network (RJ-45) - HDMI - DisplayPort - Audio Line Out - Wired	4	\$248.74	2	\$497.48
Moread DisplayPort (DP) to VGA Adapter, Gold-Plated Display Port to VGA Adapter (Male to Female) Compatible with Computer, Desktop, Laptop, PC, Monitor, Projector, HDTV - Black (amazon.com)	13	\$7.99	52	\$415.48
		S	ubtotal	\$26,755.68

# **Project Labor**

# Wheaton Park District - Computer Replacements

List of equipment to be removed:	List of equipment to be added:
WPD-01545 replacing WPD-01211 (CC Kiosk)	WPD-01545 Desktop
WPD-01546 replacing WPD-01239 (WPD Spare Laptop)	WPD-01546 Laptop
WPD-01547 replacing WPD-01261 (Frank Giambrone)	WPD-01547 Desktop
WPD-01548 replacing WPD-01267 (Marsh Basement)	WPD-01548 Desktop
WPD-01549 replacing WPD-01283 (Joseph Viso)	WPD-01549 Desktop
WPD-01550 replacing WPD-01284 (Elise Olmstead)	WPD-01550 Desktop
WPD-01551 replacing WPD-01285 (Brian Morrow)	WPD-01551 Desktop
WPD-01552 replacing WPD-01286 (Leisure Center Front Desk)	WPD-01552 POS machine
WPD-01553 replacing WPD-01287 (Carlene Haavig)	WPD-01553 Desktop
WPD-01554 replacing WPD-01289 (Jean McCahill)	WPD-01554 Desktop

WPD-01555 replacing WPD-01290 (Elizabeth Chartrand)	WPD-01555 Desktop
WPD-01556 replacing WPD-01291 (Tami Romejko)	WPD-01556 Desktop
WPD-01557 replacing WPD-01293 (Max Yoshikawa)	WPD-01557 Desktop
WPD-01558 replacing WPD-01294 (WPD Spare)	WPD-01558 Desktop
WPD-01559 replacing WPD-01295 (Deb Seymour)	WPD-01559 Desktop
WPD-01560 replacing WPD-01296 (Megann Panek)	WPD-01560 Replace with Laptop
WPD-01561 replacing WPD-01297 (Bruce Stoller)	WPD-01561 Desktop
WPD-01562 replacing WPD-01298 (Jason Kahlstorf)	WPD-01562 Desktop
WPD-01563 replacing WPD-01299 (Justin Kirtland /Dalton Nelson)	WPD-01563 Desktop
WPD-01564 replacing WPD-01301 (CC Front Desk POS #1)	WPD-01564 POS machine
WPD-01565 replacing WPD-01303 (Olivia Englert)	WPD-01565 Desktop
WPD-01566 replacing WPD-01304 (Toni Curley)	WPD-01566 Desktop
WPD-01567 replacing WPD-01305 (Laurie Loftus / Maddalena Tabet)	WPD-01567 Desktop
WPD-01568 replacing WPD-01306 (Pro Shop POS West Side)	WPD-01568 POS machine
WPD-01569 replacing WPD-01307 (Matt Heine - Static IP for Digital Dining)	WPD-01569 Desktop
WPD-01570 replacing WPD-01309 (CC Front Desk POS #3)	WPD-01570 POS Machine

Project Labor Subtotal:

\$6,500.00

## Payment Terms

In order to initiate the work, AIE requires a signed copy of the agreement along with 100% down payment on all hardware and licensing and 50% down payment on all labor. The balance of the labor, along with any additional surcharges or tax, will be billed Net20 upon completion of the work.

# Wheaton Park District - 2023 First Round PC Replacement



Prepared by:
Advanced Intelligence
Engineering
Tony Montero
(630) 936-4045

Tony Montero (630) 936-4045 Fax (815) 346-5342 jmontero@aie195.com Prepared for: Wheaton Park District

102 E. Wesley St. Wheaton, IL 60187 Mike Benard (630) 510-4945 mbenard@wheatonparks.org Quote Information: Quote #: TM002622

Version: 2

Delivery Date: 04/20/2023 Expiration Date: 04/28/2023

### **Assumptions**

- Client staff will be available in a timely manner for questions and testing of changes.
- Client will provide all necessary software discs, serial numbers, and passwords for any software needing to be reinstalled.
- The work will be completed Monday-Friday / 7:30am-5:30pm, unless otherwise designated by AIE.

Should any of these assumptions prove to be incorrect, additional labor will be billed at AIE's project rates of \$190/hr, with after hours work billed at 1.5x project rates.

#### **Quote Summary**

Description	Amount
Hardware	\$26,755.68
Project Labor	\$6,500.00
Total:	\$33,255.68

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

Advanced	Intelligence	Engine	ering
	J		

#### Wheaton Park District

Signature:		Signature:	
Name:	Tony Montero	Name:	Mike Benard
Title:	Account Manager	Title:	Executive/Director
Date:		Date:	4/20/23